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Part A
Section Id : 920906277
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906452
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 92090613973 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

1 few 71U g=riw 1 e O uga g Ui & ST al -

U g1 ORT H9A1 G 81 & &,

TR DI A1 B GR1 YT TH &,
qH &1 S &1 | a- 4R I €2
Y B Ul & 90N W &R & a,
P! iTad # gRRAR W A g,
fire= 31 3ifEl & ot @ Sffemy,
Uy TR QRI-URT UhT< 81 - &l

g BUSI-3US! Id FIGI-HT 3TeH,
¥ Hig-vA-, T 5 oI draH |

Sub questions
Question Number : 1 Question Id : 92090613974 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JURTeR Ul # U0 1 14 994 Hiferg|

(1)  WHT (2) Pd
(3) BIHIR (4) B
Options :

92090655201. 1
92090655202. 2
92090655203. 3
92090655204. 4

Question Number : 2 Question Id : 92090613975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR Weg H1 fAd™ o1 g2

(1) USRI (2) SfoErI
(3)  3ulldl (4)
Options :

92090655205. 1
92090655206. 2
92090655207. 3
92090655208. 4

Question Number : 3 Question Id : 92090613976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3US-3US H $1-91 Ysg ¥U 872

(1)  SFBUTEAD e (2) TUHFTHS Ueg
(3) A% e (4) Tad Weg
Options :

92090655209. 1
92090655210. 2
92090655211. 3
92090655212. 4

Question Number : 4 Question Id : 92090613977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A-HY Yeq, H HH-H1 THY TG g3l 67

(1) 3fegdiyE (2) HHYRY
3) fa1 @) dgsy
Options :

92090655213. 1
92090655214. 2
92090655215. 3
92090655216. 4

Question Number : 5 Question Id : 92090613978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

TRT Ueg H ' & Ard @t fa<] &1 FT Hgd o7

1 &= 2 fog
(3) o (4) Ble
Options :

92090655217. 1
92090655218. 2
92090655219. 3
92090655220. 4

Question Id : 92090613973 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

2 few 71U y=riw &1 e O U g Ui & STl -

U &1 oRT 91 QR1 &1 o &,

TR B B BT GR1 YT TH 3,
qH &1 ST &1 i d-4R 3T €2
3 B U9 & WM W R A g,
! sifad 7 gRR R T 2,
fire= 31 3ifEl & ot &1 Sy,
Uy TR QR1-UR1 UhT< g1 - &l

g BUSI-3US! Id FHIGI-HT 3TeH,
H Aig-v-t, I =g s araH |

Sub questions
Question Number : 1 Question Id : 92090613974 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR Ui H YT 1 A1 994 Sifeid|

(1)  UHK ) Pd
(3) BIWIR (4) UHI
Options :

92090655201. 1



92090655202. 2
92090655203. 3
92090655204. 4

Question Number : 2 Question Id : 92090613975 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"3RI s T fAEH o1 g1m?

(1) UPR (2) IR

(3)  3ulldl (4)
Options :

92090655205. 1
92090655206. 2
92090655207. 3
92090655208. 4

Question Number : 3 Question Id : 92090613976 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3US-3US H $1-91 Ysg ¥U 872

(1)  SFBUTEAD e (2) TUHFTHS Ueg
(3) A% e (4) Tad Weg
Options :

92090655209. 1
92090655210. 2
92090655211. 3
92090655212. 4

Question Number : 4 Question Id : 92090613977 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-1 Ueg H HH-H1 THH W g3l 82
(1) 3fAdIYE (2) PHYRY
3) fa (@) dgeEy

Options :



92090655213. 1
92090655214. 2
92090655215. 3
92090655216. 4

Question Number : 5 Question Id : 92090613978 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRT Ueg H ' & Ard @t fa<] &1 FT Hgd o7

1y &= 2 fog

3) e (4) Slc
Options :

92090655217. 1
92090655218. 2
92090655219. 3
92090655220. 4

Sub-Section Number : 2
Sub-Section Id : 920906453
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090613979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TUrdTae fA2I901 &1 §eld el IHu?

(1) faceh axgeli &1 afgsdRr & (2) d TR el Sdir?
(3) Urgl THSHE Al (4) DO THHMA T M3
Options :

92090655221. 1
92090655222. 2
92090655223. 3
92090655224. 4

Question Number : 6 Question Id : 92090613979 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U faLN0 1 §eld I8l iHu?

(1) e axgsi &1 sfewpR #3| (2) 3 TN Pl e
(3) UTSIAABH A @l (4) DS AHGE o 33|
Options :

92090655221. 1
92090655222. 2
92090655223. 3
92090655224. 4

Question Number : 7 Question Id : 92090613980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I= fAdHl ¥ 99 @ § | 91 § Xgifed Us f6Y9 T3 & 9 &1 Sd s W@ &2

(1) SfdqaE® 2) e
(3) HEErES 4) ufHUEES
Options :

92090655225. 1
92090655226. 2
92090655227. 3
92090655228. 4

Question Number : 7 Question Id : 92090613980 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I= fOdHl ¥ 9d @ § | 91 § YWifed Uss [ T3 & Je &1 3 W@ 87

(1) fdddra® 2) wfaarEs
(3) HEHEES (4) URHUEES
Options :

92090655225. 1
92090655226. 2
92090655227. 3
92090655228. 4

Question Number : 8 Question Id : 92090613981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

gl | & 91y gt 1 w1 faE Fifoe

| g -
(A) AR () TIeY TAN
(B) XMYA (y fegans
(C) UldnaR (ny  3fediyE HY
(D) TaUE (Iv) gdife Tad

412 feu e f9sedi # 9 9l IR &1 994 I

(M (A)-(), (B)-(IV), (O-(1), (D)-(l)
(2 (A=), B)-(1), (Q-(Iv), (D)-()
(3) (A=), (B)-(1V), (O)-(1), (D)-(1)
4 (A)-(V), (B)-(11), (O-(1), (D)-(ln)

Options :

92090655229. 1
92090655230. 2
92090655231. 3
92090655232. 4

Question Number : 8 Question Id : 92090613981 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il | & 1y gt 1| &1 fieE Sifore

- -l
(A) AR () dgeY THY
(8) IGYA (ay feganAs
(C) UldnaR (I 3ty 9
(D) U8 (Iv) dgdife Iar
19 fau T fasedi d 8 9El IR &1 99 SifoT:
(1) (A)-(I1), (B)-(IV), (C)-(1), (D)-(111)

(3) (A, (B)-(IV), (©)-(D), (D)-()

)-(
(@) (A1), B)-(), (C)-(IV), (D)-()
)-(
4 (A)-(v), (B)-(I), (C)-(), (D)-(1)



Options :

92090655229. 1
92090655230. 2
92090655231. 3
92090655232. 4

Question Number : 9 Question Id : 92090613982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt | & 91y gt 1 1 faaE Sifse

Tl-| NEIEl

(A) 3MTeH (1) TGN JH
(B) cxHfad (1)  SEIHE JHY
© JYEg™ () Sgdile T
(D) <A (Iv) &g 9H™
19 fau U faseul # 9 gl IR 19U SIS
(1) (A)-(1), (B)-(I), (C)-(1V), (D)-(l11)
2 (A)-, EB} (1), (©)-(1V), (D)-(I)
(3) (A=), (B)-(), (O)-(IV), (D)-(1)
(@) (M-I, (B)-(1V), (O)-(1), (D)-(111)

Options :

92090655233. 1
92090655234. 2
92090655235. 3
92090655236. 4

Question Number : 9 Question Id : 92090613982 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T | & a1y g 11 B fAeE S

- EEIST
(a) 34 (1) Ty gAY
(8) SHfE (1)  SfEdTHId JHE
(€ g@gw () dgdife gaTH
(D) S=MHA (V) &g 9H™
4 feu v flaseul © ¥ 98l 3O &1 994 S
(1) (A)-(1), (B)-(IN), (C)-(IV), (D)-(1NN)

(3) (A=), (B)-(n), (Q-(V), (D)-()

)-(
(2) (A=), (B)-(1). (O)-(IV), (D)-(ID)
)-(
@) (A, (B)-(IV), (Q-(), (D)-(I)

Options :

92090655233. 1
92090655234. 2
92090655235. 3
92090655236. 4

Question Number : 10 Question Id : 92090613983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 UTY 9§ S 9Tdd s BRI -
A, TfcHHE

B. U
C. ffeH
D. fourfa

e fea

12 fau e fasedl # 9 el 3T’ &1 994 SIfo
(1) dd A B

(2) &dd B, C

(3) dd B, D

(4) Hdd E

Options :
92090655237. 1



92090655238. 2
92090655239. 3
92090655240. 4

Question Number : 10 Question Id : 92090613983 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3q UTY 9§ S 91d Ue BRI -
A, TIfaHH

B. S
C. ffeH
D. fuurfa

e fed
412 feu 1 fasedi @ | Jel IR &1 994 DI ;

(1) &dd A B
(2) Pdd B, C
(3) &dd B, D
(4) Hdd E

Options :

92090655237. 1
92090655238. 2
92090655239. 3
92090655240. 4

Question Number : 11 Question Id : 92090613984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe m=2, n=3AW12m*-3mn FTHAE:

(1 92 (2) 88
(3) 94 (4) 90
Options :

92090655241. 1
92090655242. 2
92090655243. 3



92090655244. 4

Question Number : 11 Question Id : 92090613984 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe m=2, n=3d 12m*n-3mn* BIHAE

(1) 92 (2) 88
(3) 94 (4) 90
Options :

92090655241. 1
92090655242. 2
92090655243. 3
92090655244. 4

Question Number : 12 Question Id : 92090613985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁm#wmmm]ﬁwg W W @ bR IET sifd geg & 20% e
3R IY U sifdrd geu W &9 | = &1 @y ufawrd &1 82

(1) 25% (2) 50%
(3) 40% (4) 60%
Options :

92090655245. 1
92090655246. 2
92090655247. 3
92090655248. 4

Question Number : 12 Question Id : 92090613985 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁmﬁwmmma@wg W R el R I oifd e #Y 20% o1 R
3fR 3 U sifdhd Hed U &9 fen| fean &1 @ ufa=rd @1 g2

(1) 25% (2) 50%
(3) 40% (4) 60%
Options :

92090655245. 1
92090655246. 2
92090655247. 3
92090655248. 4

Question Number : 13 Question Id : 92090613986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sl Uy A OYT B UH el &l HH: 15 e aul 20 fiFe # WR 9l g1 SF1 usyl &1 U
T Wl T U] 4 ATe 91 Ugy A & §w &R f&a1 Tl &t &1 WRA # od a1 7y
e

(1) 14 fiAe 40 9ds 2) 12 f#e 30 Bbs
(3) 11 TPHe 45 §hE (4) 10 f8He 20 OFe
Options :

92090655249. 1
92090655250. 2
92090655251. 3
92090655252. 4

Question Number : 13 Question Id : 92090613986 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sl USY A dYT B U el &l HHI: 15 e aur 20 fiFe # WR 9l §1 aF1 uisyl &1 U
1Y Gl 71 W= 4 e 91 U5y A &1 d=< & {331 a1 78t 1 WA | $d faa1 971y
e

(1) 14T 40 9F3 2) 12 e 30 O3
3) 11 THAe 45 s (4) 10 f0FE 20 THs
Options :

92090655249. 1
92090655250. 2



92090655251. 3
92090655252. 4

Question Number : 14 Question Id : 92090613987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT & oiF 319 A1 foFB] YU HHDL: 3 cm, 4 cm TUT 5 cm &, &1 [Ugdl & TP gl 94
11 71| AU §U UHT & gET &thd &1 417 aUT - O & I & d | 941 34T 87

(n 2:1 @ 32
(3) 25:18 (4) 27:20
Options :

92090655253. 1
92090655254. 2
92090655255. 3
92090655256. 4

Question Number : 14 Question Id : 92090613987 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T & I 3 g oS! YO HH: 3 cm, 4 cm YT 5 cm §, &1 A R TH F21 T4
191 71| 3T gU U & gy &Fd &1 417 9T AT 99 & gEIg &% J 1 SN 82

(1) 2:1 (2 3:2
(3) 25:18 4) 27:20
Options :

92090655253. 1
92090655254. 2
92090655255. 3
92090655256. 4

Question Number : 15 Question Id : 92090613988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oid A % 65,000 BI AR BT 31 a1l & Faw far aur 2 a4 ugiq 7,275 & &6 J Uw

{3 | T H AURY TS 6% dIfte 9 &0 & aul JioHT 1| § dshdia ol 5% dift® od g
OIS | a1 dieT 11 H FafRa aRE! &1 sHuTd 91 S|

(1) 1:1 2) T1:b
(A) &:4 (4) 3:4
Options :

92090655257. 1
92090655258. 2
92090655259. 3
92090655260. 4

Question Number : 15 Question Id : 92090613988 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oid A % 65,000 B AR 1 31 o1l & [ far aur 2 a9 uyiq 7,275 & 9 § Uw

fa | TS o WIURY TS 6% dlitd GR &0 § auT TorT 1| § dshdia &I 5% diftie < ¢
I | YT grer 1| H FafRa iR &1 sruTd F1d S|

(M ; il (2} TL6
(3) 5:4 4 3:4
Options :

92090655257 1
92090655258. 2
92090655259. 3
92090655260. 4

Question Number : 16 Question Id : 92090613989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&I 9l fdeed o, R Ra x &1 gl axar g :

(1) (2)

N

(3) (4)

Options :

92090655261. 1
92090655262. 2
92090655263. 3
92090655264. 4

Question Number : 16 Question Id : 92090613989 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
& 9 faeed g, RIMA A x S i Har g -

(1) (2)

(3) (4)

/




Options :

92090655261. 1
92090655262. 2
92090655263. 3
92090655264. 4

Question Number : 17 Question Id : 92090613990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofd U 1 U T $I 125 BIe GAEY 941 § fayiiora o oiran € 1 fba- 81 94 faar i
g

(1) 27 (2) o4
(3) 8 (4) 16
Options :

92090655265. 1
92090655266. 2
92090655267. 3
92090655268. 4

Question Number : 17 Question Id : 92090613990 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofd U 1 U T $I 125 BIe GAEY 941 § fayiiora o oiran € 1 fba- 81 94 faar i
g

5 5 N § (2) o4
3) 8 (4) 16
Options :

92090655265. 1
92090655266. 2
92090655267. 3
92090655268. 4

Question Number : 18 Question Id : 92090613991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&1 7S 4T 12, 30, 120, 460, 1368, 2730 F XY HHT 16, (A), (B), (C), (D), (E) TafHd B
dd 91d BIfot fob D & WA W S ufawifig grm?

(1) 1384 (2) 2642
(3) 2808 (4) 1988
Options :

92090655269. 1
92090655270. 2
92090655271. 3
92090655272. 4

Question Number : 18 Question Id : 92090613991 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1 715 @ 12, 30, 120, 460, 1368, 2730 P SEY 4Gl 16, (A), (B), (C), (D), (F) ARG B
4 Id Bifelt f D & RIF W H14 Hiawifia grm?

(1) 1384 (2) 2642
(3) 2808 (4) 1988
Options :

92090655269. 1
92090655270. 2
92090655271. 3
92090655272. 4

Question Number : 19 Question Id : 92090613992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 feg U wsdt & e g & o o ey B, 7€ gHE Tey g o g | & g
o= Mg : Mifd Areg

(1) IYEdr: Ared (2) Hdg®d : 99
3) g . aes 4) e Tmemen
Options :

92090655273. 1
92090655274. 2
92090655275. 3
92090655276. 4



Question Number : 19 Question Id : 92090613992 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 f3u U wreal & Hel g & o ol daY g, 91 GAH Hay AU e g | 4 g
&g et ; Mifd Areg

(1)  fEdr: Jee (2) YHdlg® :€H
3) s ares (4) famfar: S
Options :

92090655273. 1
92090655274. 2
92090655275. 3
92090655276. 4

Question Number : 20 Question Id : 92090613993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X 1 981 gd fa2n @1 &k 81 ag udl &1 fa=n § 100° W YSdl 8 3R R arga fezn #
145° R Sl g1 3d X BT I by f3sm &1 SR &2

1 u 2 IW-yd
3) JTW (4) afémo-uigy
Options :

92090655277. 1
92090655278. 2
92090655279. 3
92090655280. 4

Question Number : 20 Question Id : 92090613993 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X 1 981 gd fa2n @1 &k 81 ag udl &1 fa=n § 100° W YSdl 8 3R R arga fezn #
145° R Sl g1 3d X BT I by f3sm &1 SR &2

1 u 2 IW-yd

B) TW (4) afémo-uigy

Options :



92090655277. 1
92090655278. 2
92090655279. 3
92090655280. 4

Question Number : 21 Question Id : 92090613994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PREICLE B YR IR féad HA Sl 3 |
(1) 8 3f (2) 8 Ryamr

(3) 83 (4) 8AdraER
Options :

92090655281. 1
92090655282. 2
92090655283. 3
92090655284. 4

Question Number : 21 Question Id : 92090613994 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PREICLE 1 YR AT fead HA Sl 3 |
(1) 8RN 2) 8RR

(3) 83T @) 8RR
Options :

92090655281. 1
92090655282. 2
92090655283. 3
92090655284. 4

Question Number : 22 Question Id : 92090613995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el HYET &1 99 I

A HRH AP 1 Uomell U9 RS ¢ | U8 OF IR0 § Ue9E o | Udd TRUl &
FSHH Haed g |

B. MR HAYH & YR Yo WHR YR ! Ydied SAGR] FH™ g1 3R Womed! &1
UYH TR0 g |

C. U™ WHR fgd = &1 ulaFYd $3d € 3R Udd I & AHS WHR gRI
AR B HId g | Afch 39 U Big HIABRI Wfadd T8i e

D.  S{H=IH &1 R TR0, R TR W Uahd & &9 6 g
I feu U faedl # W 98l IR & 99 Sifelg ;

(1) &ad A B3IRC
(2) Had ASIRB
(3) ®ad B3R D
(4) &dd A B3R D
Options :

92090655285. 1
92090655286. 2
92090655287. 3
92090655288. 4

Question Number : 22 Question Id : 92090613995 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el HYET &1 99 I

A HRH AP 1 Uomell U9 RS ¢ | U8 OF IR0 § Ue9E o | Udd TRUl &
FSHH Haed g |

B. MR HAYH & YR Yo WHR YR ! Ydied SAGR] FH™ g1 3R Womed! &1
UYH TR0 g |

C. U™ WHR fgd = &1 ulaFYd $3d € 3R Udd I & AHS WHR gRI
AR B HId g | Afch 39 U Big HIABRI Wfadd T8i e

D.  S{H=IH &1 R TR0, R TR W Uahd & &9 6 g
I feu U faedl # W 98l IR & 99 Sifelg ;

(1) &ad A B3IRC
(2) Had ASIRB
(3) ®ad B3R D
(4) &dd A B3R D
Options :

92090655285. 1
92090655286. 2
92090655287. 3
92090655288. 4

Question Number : 23 Question Id : 92090613996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT ST B YR 359 $1 RRAR OieE1 82

(1) FAleH (2) dREArg
(3) Y uH (4) AT
Options :

92090655289. 1
92090655290. 2
92090655291. 3
92090655292. 4

Question Number : 23 Question Id : 92090613996 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT ST B YR 35g $1 RRAR OieA1 87

(1) HAle®d (2) dREArg
(3) Y W (4) AT
Options :

92090655289. 1
92090655290. 2
92090655291. 3
92090655292. 4

Question Number : 24 Question Id : 92090613997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R A FyERTMUE:
FYT| : BRURE B (¢dH) Uh AU B 8, ofl DA & arHiY IR IeTl &l g1 98
Uoligpd =i SR Ff iR @r) faran s g1

HU Il : T =TS 3R YT (Goll 1l & SIS o I Ugd & o1y R gRebierd i i g1
IRl Y= & 3feid H, i AT 17U faseal # 4 ¥gl S 9a4 difo

(1) YIRS TT &

(2) YR IEH T ©

(3) ®YF| A g, Alpd YA 1| A 8
(4) HYTI TG B, Afbd FYT 1 TA 8

Options :

92090655293. 1
92090655294. 2
92090655295. 3
92090655296. 4

Question Number : 24 Question Id : 92090613997 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R FERumE:

FYT| : DRURE B (cad) TP HUTS BT ¢, Gl A & ATHY W Iel ordl g1 98
Ueiigrd St TR FRTHT OR @ fovan i g

HUF Il : g TG R T (Yol H=lT) & HIe o4 4§ Ugdl & a1 IR gRapferd b oiran g1
IR YA & 3fTdes |, IF {3 U fasedl 7 4 ¥el I 904 Hife

(1) FYHISRISH TIE

(2) YT SRISH T §

(3) YT TG B, AFT HYA 11 ST 8§
(4) HYTI AT T, AP FYT 1 A8

Options :

92090655293. 1
92090655294. 2
92090655295. 3
92090655296. 4

Question Number : 25 Question Id : 92090613998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt | & 91y gt 1 &1 faE Fifoe

- -l
el Ud ABR TH
(A) TSI gaal () &d
®) fag () HAeH
(€ YTME (ny fewre™ udw
(D) T (v) Sfifgam

= fau v fasedi ¥ 9§ 9 IR &1 994 DI

(1) (A)-(1), (B)-(1), (C)-(1V), (D)-(I)
(2) (A=), (B)-(1), (O)-(IV), (D)-(I)
(3)  (A)-(V), (B)-(I1), (C)-(1), (D)-(D)
(4 (A)-(), B)-(IV), (O)-(1), (D)-(IN)
Options :

92090655297. 1

92090655298. 2
92090655299. 3



92090655300. 4

Question Number : 25 Question Id : 92090613998 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl | & 91y gt 1| &1 faeE Sifore

- -l
Ad Ud dER T
(A) ST el () &
®) fag )y HAleE
(© IYTE (ny  fewTea uew
(D) dadd (V) Sfiftsgm
1 fau U fasmedl # O HEl SR &1 994 Sife:
(1) (A)-(1), (B)-(11), (C)-(IV), (D)-(11)

(3)  (A)-(V), (B)-(I1), (O)-(11), (D)-(1)

)-(

(2) (A=), (B)-(1), (O)-(1V). (D)-(1N)
)~

(4 (A)-(), (B)-(IV), (O)-(1), (D)-(I)

Options :

92090655297. 1
92090655298. 2
92090655299. 3
92090655300. 4

Part B: Geography

Section Id : 920906278
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906454

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 26 Question Id : 92090613999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Subduction zone is also known as
1. Wadati-Benioff Zone
2. Jig-saw puzzle
3. Vine-Matthews Zone
4

zone of magnetic reversals

Options :

92090655301. 1
92090655302. 2
92090655303. 3
92090655304. 4

Question Number : 26 Question Id : 92090613999 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wfaEa aves & +ff =& =T 2 |

(1) a3 - SHi3Ts qved (2) T - T dEe
(3) @A - #ug gusd (4) T FEHaT HISHA
Options :

92090655301. 1
92090655302. 2
92090655303. 3
92090655304. 4

Question Number : 27 Question Id : 92090614000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of the following is NOT a polycyclic landform?
1. Valley in valley
2. Tamn
3. Incised Meanders
4. Knick point

Options :

92090655305. 1
92090655306. 2
92090655307. 3
92090655308. 4

Question Number : 27 Question Id : 92090614000 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

7 5 ¥ % €t vk wg-=sha TS A8l 87

(1) =t | = (2) TH (Friame)
(3)  319: Hfda faad (4) Tz @mge
Options :

92090655305. 1
92090655306. 2
92090655307. 3
92090655308. 4

Question Number : 28 Question Id : 92090614001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is known as ‘doctor’ wind?

1.  Harmattan

2. Sirocco
3. Mistral
4. Bora



Options :

92090655309. 1
92090655310. 2
92090655311. 3
92090655312. 4

Question Number : 28 Question Id : 92090614001 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 5 ¥ = & o ‘SiEet’ 99 wEerd & 7

(1) #weA (2) T
(3) faea (4) =
Options :

92090655309. 1
92090655310. 2
92090655311. 3
92090655312. 4

Question Number : 29 Question Id : 92090614002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Roaring forties represent

%
[

equatorial westerlies.

2 southern hemisphere westerlies.
3. trade winds.
4

westerlies of northern hemisphere.

Options :

92090655313. 1
92090655314. 2
92090655315. 3
92090655316. 4

Question Number : 29 Question Id : 92090614002 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRl ST ET g9l 8

(1) vHeREE 953 (2) efeft Tendia aga
(3) =AM TaH (4) 390 TATSE T3
Options :

92090655313. 1
92090655314. 2
92090655315. 3
92090655316. 4

Question Number : 30 Question Id : 92090614003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Irminger ocean current flows in

1.  North Atlantic Ocean

2.  South Atlantic Ocean

3.  North Pacific Ocean

4. Southern Ocean
Options :

92090655317. 1
92090655318. 2
92090655319. 3
92090655320. 4

Question Number : 30 Question Id : 92090614003 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT AeErRE 9T T yartgd 2l £ |

(1) 39 39 TeErR (2) Tftaft 3tg FEmER
(3) 3ol yud HEER (4) Tieofi PR
Options :

92090655317. 1
92090655318. 2



92090655319. 3
92090655320. 4

Question Number : 31 Question Id : 92090614004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Spring tide represents

1. higher high tides and higher low tides

2. higher high tides and lower low tides

3. lower high tides and higher high tides

4. lower high tides and lower low tides
Options :

92090655321. 1
92090655322. 2
92090655323. 3
92090655324. 4

Question Number : 31 Question Id : 92090614004 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e = EIRAUGIRA

(1) I==m 3=9 TOR 3N I=9a =4 91

(2) T==d I=9 =R IR Fea fm =

(3) T4=m 3=9 =9 3N =9 3=9 =90

(4) T 3=9 s=n 3k feaw s == m

Options :

92090655321. 1
92090655322. 2
92090655323. 3
92090655324. 4

Question Number : 32 Question Id : 92090614005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Species with broad ecological tolerances are called
1. stenotopic
2. eurytopic
3. endemic
4.  keystone species

Options :

92090655325. 1
92090655326. 2
92090655327. 3
92090655328. 4

Question Number : 32 Question Id : 92090614005 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Terega wrftfeafoaehl waefierarail arefl gsfai =i T AT § |
(1) w=Aei® (2) FEifs
(3) wIEhe (4) HEE g

Options :

92090655325. 1
92090655326. 2
92090655327. 3
92090655328. 4

Question Number : 33 Question Id : 92090614006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Biodiversity of birds
1. decreases from the tropics towards the poles
2. increases from the tropics towards the poles
3. decreases from mid-latitudes towards the equator and the pole
4.

except in deserts, remains constant

Options :



92090655329. 1
92090655330. 2
92090655331. 3
92090655332. 4

Question Number : 33 Question Id : 92090614006 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
uftgat i Sa-fafaema

(1) IoTepfead] & yai it 37 gedt 2 |
(2) IoTRicadl | YAl i IR dqedl & |
(3) HEA-FAI H YOS TE@ IR Y&l $H 3R gl 2 |
(4) Tl & JAfqiga, T9E &l 8 |
Options :
92090655329. 1
92090655330. 2

92090655331. 3
92090655332. 4

Question Number : 34 Question Id : 92090614007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following drainage system is antecedent drainage system?

1. Yamuna

2. MNarmada
3. Krishna
4. Luni

Options :

92090655333. 1
92090655334. 2
92090655335. 3
92090655336. 4



Question Number : 34 Question Id : 92090614007 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T § & 9 = HAvaETE YTt Jead] SA9aTE Jomett 27

(1) = (2) e
(3) Fom (4) =
Options :

92090655333. 1
92090655334. 2
92090655335. 3
92090655336. 4

Question Number : 35 Question Id : 92090614008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements is NOT correct with reference to precipitation
in India?

1.  The variability of rainfall is high in dry areas of Rajasthan.

2. Coastal Kamataka receives ‘mango showers’ in post-monsoon
season.

3.  Mawsynram receives the highest amount of rainfall in the country.

4. Western disturbances supply moisture to rabi crops.

Options :

92090655337. 1
92090655338. 2
92090655339. 3
92090655340. 4

Question Number : 35 Question Id : 92090614008 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9T | 991 & HeH § M9 4 ¥ $H | HUF 96l 78 87

(1) UM % 6 41 | 999 GiEdeied 3=9 & |

(2) Sies & 19 &E1 B I 991 qEEA-9vEd i g § 2t §)
(3) <u ¥ Haifys I91 A" 5 26T 2 |

(4)  wfeest faaiy @i 61 wael o T i Ad Fd 8 |

Options :

92090655337. 1
92090655338. 2
92090655339. 3
92090655340. 4

Question Number : 36 Question Id : 92090614009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Most of the coal in India comes from rocks.
1. Dharwar

2. Gondwana

3. Cuddapah
4. Vindhyan
Options :

92090655341. 1
92090655342. 2
92090655343. 3
92090655344. 4

Question Number : 36 Question Id : 92090614009 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qRA § ST e TZHI H UTH B 2 |
(1) smEE (2) =M
(3) HEw (4) fEem

Options :



92090655341. 1
92090655342. 2
92090655343. 3
92090655344. 4

Question Number : 37 Question Id : 92090614010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The water vapour content in the atmosphere ranges between by volume.

—

5to 10 percent
2. 10to 15 percent
3. zeroto 4 percent

4.  15to 20 percent

Options :

92090655345. 1
92090655346. 2
92090655347. 3
92090655348. 4

Question Number : 37 Question Id : 92090614010 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IgHEA § Forard i ET AETH & AR &l 2 |
(1) 5% 10 gfaem (2) 10 % 15 wfaee
(3) 0¥ 4 vfqwa (4) 15§ 20 wfaym
Options :

92090655345. 1
92090655346. 2
92090655347. 3
92090655348. 4

Question Number : 38 Question Id : 92090614011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tropical cyclones do not form over

1.  South Atlantic Ocean
2.  North Atlantic Ocean
3. North Indian Ocean

4. South Pacific Ocean

Options :

92090655349. 1
92090655350. 2
92090655351. 3
92090655352. 4

Question Number : 38 Question Id : 92090614011 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EL CACCPIREEF TG 7 fomfea 781 2d )

(1) =&l 379 HE@rR (2) I 39 HEETR
(3) 3wl fa wE@TR (4) efeft geria FEETR
Options :

92090655349. 1
92090655350. 2
92090655351. 3
92090655352. 4

Question Number : 39 Question Id : 92090614012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : The Himalayas are result of tectonic activity along the
convergent plate margins.

Reason (R) : In Tertiary period, convergence of Indian Plate with
Australian Plate compressed the sediments of Tethys Sea.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090655353. 1
92090655354. 2
92090655355. 3
92090655356. 4

Question Number : 39 Question Id : 92090614012 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

F (A) fEHTer ed HAWE wie HiHl 5 HEH g 9Tl fSadiel B 5
gftomg 21

F (R) 2 e °, ¢fum R & e andg o smefoas e & st
% T gefifsa & T 9 |

I g1 HUAT & WTeAs ° A fou v fomedi § ¥ oE 3 % 99 i

(1) (A) 3R (R) T 7 €, (R), (A) i Hel =3redn T 2 |

(2)  (A) 3R (R) 3F1 &7 &, it (R), (A) i wéil =5ren 78 2 |

(3) (A)Hed g oo (R) 7erdl B |

(4) (A7 2w (R) 59 2

Options :

92090655353. 1
92090655354. 2



92090655355. 3
92090655356. 4

Question Number : 40 Question Id : 92090614013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : Coral reefs are generally found near the coastal regions of
temperate areas.

Reason (R) : Corals require clean, well-lighted water between 18 °C and
30 °C. They are intolerant of low salinity and low light levels.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanationof (A)
3. (A)is truebut (R) is false

4. (A)is false but (R) is true

Options :

92090655357. 1
92090655358. 2
92090655359. 3
92090655360. 4

Question Number : 40 Question Id : 92090614013 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



w9 (A) . vETe Tt gmee: dfiden sieEy % g &5 % 9w g e # )

FRO (R): a1l &I A6, WHE-JHd IHT e amaE 18°C ¥ 30°C ®,
HATGTEHRAT Bl 81 ¥ % AGUAT 9 HH T T I TET T8 B 9 B |

I SH1 HYAI o AR H A fou 70 foehedl § § H21 39 &1 =994 i |

(1) <F (A) 3 (R) 5 & 3 (R), (A) i el =amea 2 |

(2) M1 (A) 3 (R) a1 & 8, wfhT (R), (A) 1 |el = a1 2 |

(3) (A)@™ 2 3R (R) Teid 2|

(4)  (A)7TeE B 3R (R) 90 2

Options :

92090655357. 1
92090655358. 2
92090655359. 3
92090655360. 4

Question Number : 41 Question Id : 92090614014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following cities in ascending order of seismic sensitivity of their
locations in earthquake hazard zones of India.

A. Delhi

B. Surat

C. Hyderabad
D. Itanagar

Choose the correct answer from the options given below :

1. A, C,B,D

2. B,CAD

3. BCDA

4. C,B,AD
Options :

92090655361. 1
92090655362. 2
92090655363. 3



92090655364. 4

Question Number : 41 Question Id : 92090614014 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YA & Ydig Aifan &= 4 feufa & smEn fa et & 39 gaesfiear & WHE %9 o
safeg Hifau |
(A)  Teeett
(B) 9@
(C) eeuETe
(D) 3z
i fou v gt o & = fomrew &1 977 #1
(1) (A), (C), (B), (D) (2) (B), (C), (A), (D)
(3) (B), (C), (D), (A) (4) (C), (B), (A), (D)
Options :

92090655361. 1
92090655362. 2
92090655363. 3
92090655364. 4

Question Number : 42 Question Id : 92090614015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following elements in descending order of their share in earth's
crust.

A. lron
B. Silicon
C. Oxygen

D. Aluminium

Choose the correct answer from the options given below :

1. C,D,B,A

2. B,CDA

3. C,B,DA

4. B,D,AC
Options :

92090655365. 1
92090655366. 2
92090655367. 3
92090655368. 4

Question Number : 42 Question Id : 92090614015 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Y-T9E § I % IR g deal 9l 3EUE 0 § S i |

(A) i

(B) fafessia

(C) HiawisA

(D) uegftEm

= fou mu gl § & w1 fawen F1 =79 =)

(1) (C), (D), (B), (A) (2) (B), (C), (D), (A)

@ (0, B), D), (A) (1) (B), (D), (A), (O)



Options :

92090655365. 1
92090655366. 2
92090655367. 3
92090655368. 4

Question Number : 43 Question Id : 92090614016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following vertical zones of oceans from surface to bottom.

A. Mesopelagic

B. Bathypelagic

C. Epipelagic

D. Hadal zone

E. Abyssopelagic

Choose the correct answer from the options given below :
1. C,B,A,D.E
2. C,ABED
3: D,ABGCE

4 B,AGCED

Options :

92090655369. 1
92090655370. 2
92090655371. 3
92090655372. 4

Question Number : 43 Question Id : 92090614016 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Hrr feu T wEea mEmETEEE Tves! ® Gg G § Faa f AR srafta Hifaw )

(A) TS

(B) #dfieitas

(C) ufiueifas

(D) &= 9H

(E) UdiEeiias

= feu 7w gui 4 & wEl fomeT &1 994

(3) (D), (A), (B), (C), (E) (4) (B), (A), (C), (E), (D)
Options :

92090655369. 1
92090655370. 2
92090655371. 3
92090655372. 4

Question Number : 44 Question Id : 92090614017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement—| : Haryana is safe from tropical cyclones.

Statement—Il : During retreating monsoon western disturbances bring
moderate to heavy rainfall in Tamil Nadu.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement Il is incorrect
4. Statement | is incorrect but Statement Il is correct

Options :
92090655373. 1
92090655374. 2



92090655375. 3
92090655376. 4

Question Number : 44 Question Id : 92090614017 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fu () : s Iwmsfeasds awaml o g 21

FA (1) : ©ied! g5 AWEd & 999 datberg § givadl faeidi % s gem & g 9
Eidl 2 |
ITIE G HUAT & 3TeAreh °, [ f6u 0 fasear 7 9 #@8 39 F =959 Hifau:
(1)  Hi e (1) 3 (1) @ 2 |
(2) <F wA (D) 3R (1) 9 &
(3)  Fu (1) 98 & | %97 (1) 7o 8|
(4) YA () Ted & i wue (1) 981 21
Options :
92090655373. 1
92090655374. 2

92090655375. 3
92090655376. 4

Question Number : 45 Question Id : 92090614018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements -

Statement—I| : Specific humidity is the water vapour content of the
atmosphere, expressed in grams of water per kilogram of air.

Statement—Il :  Moist adiabatic rate is always more than dry adiabatic rate.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement |l are true
Both Statement | and Statement |l are false

Statement | is true but Statement Il is false

-

Statement | is false but Statement |l is true



Options :

92090655377. 1
92090655378. 2
92090655379. 3
92090655380. 4

Question Number : 45 Question Id : 92090614018 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fud (I): fafoe smgar armves O Iufeda S a9 6 o1 2 T8 o Soas ofg
feretom gan o =g T = 2

FU (1) : 3T T oL 20 6 T4 ot § 334 2l 2|

ITH GHI BT 6 AT H, A= TG0 T famhedl § § HEl 39T 1 =59 hiTau:
(1) aF %2 (1) 3 (1) 581 2 |

(2) g wEA (D) 3R (1) T 2 |

(3) = () "€ & @i &y (10) o 2|

(4) A (1) TeAa & e oA (1) w&t 2|

Options :

92090655377. 1
92090655378. 2
92090655379. 3
92090655380. 4

Question Number : 46 Question Id : 92090614019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct statements.

A. Pot holes, alluvial fans and waterfalls are fluvial erosional landforms.
B. Blow holes and Yardangs are erosional landforms produced by winds.
C. Crag and Tail landform is result of differential rates of erosion.

D. Eskers and Kames are glacio-fluvial landforms.

Choose the correct answer from the options given below :

1.  Aand B only

2. BandC only

3. BandD only

4. Cand D only
Options :

92090655381. 1
92090655382. 2
92090655383. 3
92090655384. 4

Question Number : 46 Question Id : 92090614019 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TE HYHI B AFES T
(A) e Tfde, Feile 9@ AR TA-T910 Feid AWEATHS LRI & |
(B) am fag 3k awrem a9 g T sTeAes e ¢ |

(C) 47 vd 7= Teshia 319 &1 firer gt &1 ufom #)
(D) UER 9 %A Felle- Al HiHa Saesiad] & |

= feu Tu fasret O 9 w6 I T 95 HH |

(1) e (A) 3T (B) (2) whad (B) 3R (O)

(3) a1 (B) 3 (D) (4) =Hae (C) 3R (D)
Options :

92090655381. 1
92090655382. 2
92090655383. 3



92090655384. 4

Question Number : 47 Question Id : 92090614020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following statements about weathering and mass wasting carefully
and identify the correct statements.

A. The process of disintegration and decomposition of rocks in situ is called
weathering.

B. In desert areas wind velocity and presence of silt content determines the
rate of weathering.

C. Soil creep and solifluction are rapid mass movement.

D. Mass movement is downslope movement of rock material under the
influence of gravity.

Choose the correct answer from the options given below :
1. AandB only
2. AandD only
3. BandD only
4. AandC only

Options :

92090655385. 1
92090655386. 2
92090655387. 3
92090655388. 4

Question Number : 47 Question Id : 92090614020 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FUEA S gEA HH A G R o ) A T

(A) =EEH # W-2W W fGEes AR faues s weenar 21

(B) weEelE &40 ° arg 1 o vd fiee it sufefa smeam it o = Fuifa e 21
(C) Ha1 54w 3R Hieliheidw did g8d S & |

(D) 9&d Haer eyl Y99 8 Sid Jeri &1 A= i 3R &4 arelt osficr 2 |

I feu T fomredi 9 © 981 3 %1 999 |

(1) =aa (A) #:T (B) (2) Hae (A) FT (D)
(3) e (B) 3 (D) (4) Fae (A) 3T (O)
Options :

92090655385. 1
92090655386. 2
92090655387. 3
92090655388. 4

Question Number : 48 Question Id : 92090614021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following statements about Richter Scale carefully and identify the
correct statements.

A. Itis a logarithmic scale developed in 1935 by Charles Richter.

B. As an intensity scale it uses observed property damage to estimate level
of seismic jolt.

C. Each unit of increase in magnitude equates to a roughly 32-fold increase
in the energy released.

D. Ground motion change for a magnitude 6 earthquake is 10 times greater
than produced by an earthquake of 5 magnitude.

Choose the correct answer from the options given below :
1. A,Band C only

B, C and D only

A, B and D only

ol -

A, C and D only

Options :



92090655389. 1
92090655390. 2
92090655391. 3
92090655392. 4

Question Number : 48 Question Id : 92090614021 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt &bl & a1 H 9 &% 51 9H 9 U8 |

(A) = 9red fere grn 1935 ° fassfaa i 78 v amafeis e 21

(B) ?JIE_QEF-TIEH?H(Intensity}ﬁﬁ%.aﬁwm%ﬁ{%w%mﬁﬁ
THAH FATATR 1 FAM Fl 8

(C) dfear § U 15 1 gig w01 32 TH1 el i [9gfaa o sO=t &l & |

(D) g:ﬁm%rﬁﬁnﬁwﬁwﬁwﬁmwa%%wﬁwmﬁmwm

I

Hre feu mu famrcat § 9 & 390 %1 =94 FL |

(1) == (A), (B), (O) (2) Faa (B), (O), (D)
(3) e (A), (B), (D) (4) a9 (A), (C), (D)
Options :

92090655389. 1
92090655390. 2
92090655391. 3
92090655392. 4

Question Number : 49 Question Id : 92090614022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I| with List=Il :

List—| List-lI
(Continent) (Desert)
(A) | North America (I) | Taklamakan
(B) | Asia (I1y | Nubian
(C) | Africa (I | Simpson
(D) | Australia (IV) | Mojave

Choose the correct answer from the options given below :

1T AV (B)(1): (C)=(In): (D))

2. (A(IV); (B)=(Ill); (C)=(I1); (D)~{1)
3. (A B)IV); (C)-(1); (D)-(1)
4. (Ay(l; (B)=(1); (CH(IV); (D)1)
Options :

92090655393. 1
92090655394. 2
92090655395. 3
92090655396. 4

Question Number : 49 Question Id : 92090614022 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 1wt gt 11 & gafea Sifao |

il Il
(WerEm) (FEEe )
(A) I AHEH (I) el HHH
(B) wiEmn (IT) FerE
(C) swhrept (111) T
(D) Fefcrn (IV) wr=a
i feu 7w famedt ® & |8 I 1 = Hi:

(1) A)-AV), (B)-(D), (C)-(ID), (D)-(I1I)
(2)  (A)-AV), (B)-(ID), (C)-(I0), (D)-(I)
(3 (A)-(II), (B)-AV), (C)-(D), (D)-(II)
(4)  (AN)-(ID, (B)-(D), (C)-IV), (D)-I)

Options :

92090655393. 1
92090655394. 2
92090655395. 3
92090655396. 4

Question Number : 50 Question Id : 92090614023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List—II :

List List-II
(Rock Type) (Example)
(A) | Intrusive Igneous (1) | Schist
(B) | Extrusive Igneous () | Rhyolite
(C) | Sedimentary (lll) | Breccia
(D) | Metamorphic (IV) | Diorite

Choose the correct answer from the options given below :

1. (A-(I); B)-(V); (C)-(I1); (D)~(1)

2. (A-(IV): (B)=(IN); (C)-(I1); (D))
3. (A1) (By(IV); (C)=(1); (D))
4. (AR(IV): (B)(I); (C)=(In); (D)T)
Options :

92090655397. 1
92090655398. 2
92090655399. 3
92090655400. 4

Question Number : 50 Question Id : 92090614023 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 1 %1 Tt 11 & gafera shifa |

il gt 11
(et & hH) (3erETm)
(A) Faad wma [ fre
(B) wfgdsi 3= (1) TEEEE
(C) @ (I1T) sifer
(D) i (IV) TEmTEe
I feu v fomredl o | HE I F w4 A

(1)  (A)-II), (B)-AV), (C)-(ID), (D)-(I)
(2)  (A)-(IV), (B)-(ID), (C)-(I), (D)-(T)
(3 A)-aD, (B)-IV), (C)-M), (D)-(1I)
(4)  (A-(IV), (B)-(D), (C)-(11), (D)-(I)

Options :

92090655397. 1
92090655398. 2
92090655399. 3
92090655400. 4

Question Number : 51 Question Id : 92090614024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I with List=Il :

List- List—I
(Temperate grassland) (Country)
(A) | Pustaz () |Canada
(B) | Canterbury (I1) | South Africa
(C) | Veld (I11) | Hungary
(D) | Prairie (IV) | New Zealand

Choose the correct answer from the options given below :
1. (A-(V): B)-(1): (C)=(I1): (D)~
2. (A=) (B)=(IV); (C)=(1); (D)=(IT)
3. (AR(IN); (BHIV): (C)(I): (D))
4. (A(IV); (B)(IN); (C)-(I); (D))

Options :

92090655401. 1
92090655402. 2
92090655403. 3
92090655404. 4

Question Number : 51 Question Id : 92090614024 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 gt 113 gifer i

T 1 gt 11
(ffere =m8 % HeH) (g)
(A) gHI @D e
(B) et (ID) f&or kTRt
(C) des (I11) &
(D) = (IV) =ficte

I feu v foereat 7 © 98 I F 99 WG

(1) W)-aV), (B)-(), (C)-(ID), (D)-(III)
(2)  (A)-IID), B)-OV), (C)-(D), (D)-1D
(3 (AW)-dII), (B)-AV), (C)-(D), (D)-(I)
(1)  (A)-IV), (B)-(ID), (C)-(1I), (D)-(D)

Options :

92090655401. 1
92090655402. 2
92090655403. 3
92090655404. 4

Question Number : 52 Question Id : 92090614025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following human racial groups form a majority in the hot bright
Savanna lands of West Africa?

1.  Mongoloids

2. Negroids

3. Caucasoids

4.  Papuan Melanesians

Options :

92090655405. 1
92090655406. 2
92090655407. 3
92090655408. 4



Question Number : 52 Question Id : 92090614025 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= | | ufeadt 3nhieRr % 397 SHhici 99T & § FE H # %A 91 5Fd J=iae 958
=g | 9/ 14 &

(1) wiresed (2) Figea
(3) HrhEZEH (4) TYIH-TAAIEAE
Options :

92090655405. 1
92090655406. 2
92090655407. 3
92090655408. 4

Question Number : 53 Question Id : 92090614026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Why the island in the Muhuri river has been a cause of tension between India
and Bangladesh?

1.  River water dispute

2. Sand mining dispute

3. Hydropower plant dispute
4.

Boundary dispute

Options :

92090655409. 1
92090655410. 2
92090655411. 3
92090655412. 4

Question Number : 53 Question Id : 92090614026 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl 71 &1 ZIT YRA 3R AAGH H W THIE H SRV 6 27

(1) ¢ 5a foarg (2) W@ @ faare
(3) To-faea v faam (4) i faamg
Options :

92090655409. 1
92090655410. 2
92090655411. 3
92090655412. 4

Question Number : 54 Question Id : 92090614027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following region is experiencing negative population growth rate?
1. Oceania

2.  North America

3. Africa
4. Europe
Options :

92090655413. 1
92090655414. 2
92090655415. 3
92090655416. 4

Question Number : 54 Question Id : 92090614027 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 1 & #F-31 &9 TS SEe 9fg o H 9 W@ R

(1) st (2) I R
(3) 3R (4) T
Options :

92090655413. 1
92090655414. 2
92090655415. 3



92090655416. 4

Question Number : 55 Question Id : 92090614028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What proportion of urban population is found in Africa?
1. Around 45 percent
2. Between 55 to 60 percent
3. Less than 10 percent
4.  More than 60 percent

Options :

92090655417. 1
92090655418. 2
92090655419. 3
92090655420. 4

Question Number : 55 Question Id : 92090614028 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IRt B TR S 1 fRaar ufawe orn S gy

(1) = 45 Siqed (2) 55% 60 ufdwm % &g
(3) 10 fowa & +A (4) 60 wfaea & a1faes
Options :

92090655417. 1
92090655418. 2
92090655419. 3
92090655420. 4

Question Number : 56 Question Id : 92090614029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : The gap between the populations of less developed and

more developed countries is being widened every minute.

Reason (R) : As many as 26 births take place in less developed countries

and as many as 241 births take place in more developed
countries every minute.

In the light of the above statements, choose the correct answer from the
options given below :

1L

el N

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is not the correct explanation of (A)
(A) is truebut (R) is false

(A) is false but (R) is true

Options :

92090655421. 1
92090655422. 2
92090655423. 3
92090655424. 4

Question Number : 56 Question Id : 92090614029 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YT (A) SAeq-famfaa 3 fo-fawloa <o & oo S9EEn %1 F=0a & foe

g W2 |
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(A) Wl 2 ©ifeh (R) e € |
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Options :

92090655421. 1
92090655422. 2
92090655423. 3
92090655424. 4

Question Number : 57 Question Id : 92090614030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements about National Population Policy, 2000 of
India :

Statement—I| : It includes bridging the wide gap of unmet needs and
universalizing fertility information, counselling, etc.

Statement—Il : It includes diversification of health care providers.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement |l is correct

Options :

92090655425. 1
92090655426. 2
92090655427. 3
92090655428. 4

Question Number : 57 Question Id : 92090614030 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1)
(2)
(3)
(4)

gl e (1) 3 (1) &éi € |
g1 FEA (1) 31 (1) 7T & |
%2 (1) T&l 2 ifeh ®2F (11) Terd & |
w4 (1) Tefd & Sifeht sy (1) @t & |

Options :

92090655425. 1
92090655426. 2
92090655427. 3
92090655428. 4

Question Number : 58 Question Id : 92090614031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the given statements about population theories carefully and identify the
correct statements.

A. Dumont believed in the prevalence of social capillarity.
B. Spencer believed that man had no control on his reproduction.

C. Sadler believed that man’s nature shall inevitably lead to such a high
fertility that there would be a severe conflict between his fertility and the
ability to produce subsistence.

D. According to Malthus growing density could bring change in fecundity.
Choose the correct answer from the options given below :

1. Aand C only

2. CandD only

3. A andB only

4. AandD only
Options :

92090655429. 1
92090655430. 2
92090655431. 3
92090655432. 4

Question Number : 58 Question Id : 92090614031 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SaE fagr & gy § e for e weEl # EeEE 1E |

(A) gHiC A Hiviehed = HTHal § favaE w@d 91

(B) T=EE &1 91 41 56 9a &1 319 H3cargsar W g e 1E # |

(C) ©eem F OHA1 41 foh oFE i WFla AAF@EEG: 36 UH I Fo-a © o e fF
IHh! Sl Ud (Halgeh Seqied Aradl H e g o9l S|

(D) =eUH % U 9ga1 391 ¥4 SAuied § "9ead o ° 959 £ |

= feu o ot © | 9 I &1 g9 Fifa |

() =hae (A) 31 () (2) aa (C) 3R (D)
(3) Hae (A) 3T (B) (4) Hae (A) 3R (D)
Options :

92090655429. 1
92090655430. 2
92090655431. 3
92090655432. 4

Question Number : 59 Question Id : 92090614032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per Global Forest Resources Assessment Report. (2020), the leading
country in terms of total area under forests is :

1.  Russia

2. Brazil

3. Canada

4. USA
Options :

92090655433. 1
92090655434. 2
92090655435. 3
92090655436. 4

Question Number : 59 Question Id : 92090614032 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

dfFa®s I FETYA HAider O, 2020 % AR, I % 00 B &F b Hed H
_ smuit g g

(1) =4 (2) wrEA
(3) e (4) T

Options :

92090655433. 1
92090655434. 2
92090655435. 3
92090655436. 4

Question Number : 60 Question Id : 92090614033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following forest biome has the presence of the tallest trees in the
world?

1. Temperate rainforest

2. Boreal forest

3. Tropical rainforest

4.  Tropical monsoon forest

Options :

92090655437. 1
92090655438. 2
92090655439. 3
92090655440. 4

Question Number : 60 Question Id : 92090614033 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= 5 4 50 9 SfEm o fava % 999 34 U3 9 A 8 7

(1)  sfiamn aufEs (2) =iiEe 99

(3) IOHICAYE auiEad (1) IR A



Options :

92090655437. 1
92090655438. 2
92090655439. 3
92090655440. 4

Question Number : 61 Question Id : 92090614034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chuquicamata copper mines are located in

1. Australia

2. Chile

3. Brazil

4. Mexico
Options :

92090655441. 1
92090655442. 2
92090655443. 3
92090655444. 4

Question Number : 61 Question Id : 92090614034 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THFME a1 H TH T fera 2

(1) smefemn (2) Faeft

(3) s (4) wfFa
Options :

92090655441. 1
92090655442. 2
92090655443. 3
92090655444. 4

Question Number : 62 Question Id : 92090614035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Arrange the following countries in descending order in natural gas production in
the world in 2020, as per UN Energy Statistics Yearbook (2023).

A. India
B. Russia
C. USA
D. lran

Choose the correct answer from the options given below :

1. C,D,A B

2. D,CBA

3. B,CDA

4 C,B,DA
Options :

92090655445. 1
92090655446. 2
92090655447. 3
92090655448. 4

Question Number : 62 Question Id : 92090614035 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Hal A aTfehl, 2023 % FER 2020 ¥ fava d wpfas H6 349G F FAER
T T 1 37EAIE! #H § SFaedd whifad |

(A) ¥md
(B) =9

(C) ¥ruarT.
(D) ¥

= feu mu fawedi @ ® 98t 3 1 994 Sifau )

(D (O, (D), (A), (B) (2) (D), (C), (B), (A)
(3) (B), (C), (D), (A) (4) (C), (B), (D), (A)



Options :

92090655445. 1
92090655446. 2
92090655447. 3
92090655448. 4

Question Number : 63 Question Id : 92090614036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Read the following statements carefully and identify the correct statements.
A. According to Zimmermann “resources are not, they become”.
B. Muppandal is well known as a solar park.
C. Manikaran has tidal power potential.
D

The quality of drinking water is a major environmental determinant of
health.

Choose the correct answer from the options given below :
1. AandB only
2. BandC only
3. A, BandD only
4. AandD only

Options :

92090655449. 1
92090655450. 2
92090655451. 3
92090655452. 4

Question Number : 63 Question Id : 92090614036 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= fou U FuE w1 @H 9 92 |

(A) FIds & FTER 9EYE id 48l 8, &4 9 2

(B) Hw= U SfHg 4l ek 2 |

(C) wofieht 4 =91iE 91 59154 £ |

(D) 9 & g =i e, W w6 U YE ghEtg i 2

fr= feu o famregt § 9 =& 39 1 =54 *+L

(1) =as (A) 30 (B) (2) Faa (B) 3 (C)
(3) HE= (A), (B) 317 (D) (4) e (A) 3T (D)
Options :

92090655449. 1
92090655450. 2
92090655451. 3
92090655452. 4

Question Number : 64 Question Id : 92090614037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Grand Bank fishing ground is located in

1.  Northwest Atlantic Region

2. Northeast Atlantic Region

3. Southwest Pacific Region

4.  Northwest Pacific Region
Options :

92090655453. 1
92090655454. 2
92090655455. 3
92090655456. 4

Question Number : 64 Question Id : 92090614037 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g &% Aoeg &5 fem 2
(1) IW-uiz=dt AuvemErig &5 | (2) IH-EH AOHEETHE &5 §
(3)  sigo-afvad] wona FEEEEE &F H (1) ITR-WiREH! W SEETEE & 4

Options :

92090655453. 1
92090655454. 2
92090655455. 3
92090655456. 4

Question Number : 65 Question Id : 92090614038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Abadan Qil Refinery Complex is located in
1.  Saudi Arabia

2. lraq

3. lran

4

Kuwait

Options :

92090655457. 1
92090655458. 2
92090655459. 3
92090655460. 4

Question Number : 65 Question Id : 92090614038 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEEH ol THSHTEIET Hehet fera 2
(1) wSc 3@ " (2) = H
(3) dwH (4) FHaH
Options :

92090655457. 1
92090655458. 2
92090655459. 3



92090655460. 4

Question Number : 66 Question Id : 92090614039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The leading country (in 2020) in total fish production was

1. Japan

2. China

3. Norway

4. Bangladesh
Options :

92090655461. 1
92090655462. 2
92090655463. 3
92090655464. 4

Question Number : 66 Question Id : 92090614039 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fe O IedTeA (2020) § 3moft <o {

(1) <M (2) =

(3) & (4) =TT
Options :

92090655461. 1
92090655462. 2
92090655463. 3
92090655464. 4

Question Number : 67 Question Id : 92090614040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : The number of Special Economic Zones(SEZs) and the
number of countries having SEZs have declined in last

decade.

Reason (R) : Special Economic Zones are preferred for industrial
development and export promotion in developing
economies.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3.  (A)is truebut (R) is false
4. (A)is false but (R) is true

Options :

92090655465. 1
92090655466. 2
92090655467. 3
92090655468. 4

Question Number : 67 Question Id : 92090614040 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T2 (A) : fafere snfdfes a=1 <61 g 3 fafie snfds &= Tt <o €1 e fred
<9 H " B |

FOOTR): Tl sefeEens # e fem s et # s 3 % f
fafore anfd= a1 =1 =fiza & st 2|

I FHYAT & Al H, = G 70 fGwed] § § 98 3T F1 999 Hifaw;

(1) =H (A) 3R (R) @8 & 791 (R), (A) i & =ren 2 |

(2) EAI(A) 3R (R) @8l 8 oif (R), (A) 1 HEl s3men =& 2 |

(3)  (A)@#l 8 wifsT (R) Terdl € |

(4)  (A)7erd 2 3 (R) 9E 2|

Options :
92090655465. 1



92090655466. 2
92090655467. 3
92090655468. 4

Question Number : 68 Question Id : 92090614041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement—I| :  Viticulture is a speciality of the Mediterranean region.
Statement—Il :  Sugarbeet is primary source of sugar in tropical regions.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both Statement | and Statement Il are correct

2. Both Statement | and Statement |l are incorrect

3. Statement | is correct but Statement Il is incorrect

4. Statement | is incorrect but Statement Il is correct
Options :

92090655469. 1
92090655470. 2
92090655471. 3
92090655472. 4

Question Number : 68 Question Id : 92090614041 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fo (1) . FRIIEA YHAETTE &7 6 fafirea 2 |

FUA (II) : FHe IoRieaHa &= 9 = =1 9q@ 5[ 2 |

W FYAT & el §, 9 fou e faskedt § & g 3 = fifsw

(1) & e (1) 3 (1) & & |
(2) =F FA (D) 3 (1) 7T & |
(3)  FuF (D) 9t & 991 241 (1) T 8 |
(4) w5 () 7o & a1 ®2 (1) 961 2 |

Options :



92090655469. 1
92090655470. 2
92090655471. 3
92090655472. 4

Question Number : 69 Question Id : 92090614042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Read the following statements about important waterways carefully and identify
the correct statements.

A. Panama Canal was constructed by Mexican government.

B. Suez Canal has a six-lock system and ships cross the different levels
through these locks.

C. Mississippi-Ohio waterway connects the interior part of USA with the Gulf
of Mexico.

D. Soo Canal and Welland Canal are part of the Great Lakes-St. Lawrence
seaway.

Choose the correct answer from the options given below :

1.  Aand B only

2. CandD only

3. BandConly

4. AandD only
Options :

92090655473. 1
92090655474. 2
92090655475. 3
92090655476. 4

Question Number : 69 Question Id : 92090614042 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HeEcaqul Se(td 5T A Heiud 5 S % s 1|

(A) 9T T8 1 Tmi ffegsr 6 @ & g fer

(B) & A8 H B:-Acay® dd & AN AIdId 21 Acia-gsh] ¥ gt [ai9e dd8l & 91
+d £ |

(C) Towdifidt-sAifeat somml 3 ve © & sArafes feedi i Afawss! & @&l § JEa 2|
(D) H-8L T Sci€ 78 UM Hicdi-4e aRe 995 HF1 &1 97 & |

= feu 7 fameat 4 & 98 3 w1 9541 $ifau)

(1) aa (A) 3T (B) (2) Hae (C) 3 (D)
(3) == (B) 31 (C) (4) =Ha (A) 3R (D)
Options :

92090655473 1
92090655474. 2
92090655475. 3
92090655476. 4

Question Number : 70 Question Id : 92090614043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—] with List—II :

List- List—I
(Crop/Mineral) (Leading producer)
(A) | Coffee (I) | China
(B) | Tea (Il) | Brazil
(C) | Manganese (1) | Chile
(D) | Copper (IV) | South Africa

Choose the correct answer from the options given below :

1. (A(1); (B)=(1); (C~(ll); (D)-(1V)

2. (AW(I1); (B)=(1); (C)-(V); (D)(1ll)
3. (A-(IV): B)-(lN); (C)-(I1): (D)~(1)
4. (A): (B)=(II); (C-(V); (D)1l
Options :

92090655477. 1
92090655478. 2
92090655479. 3
92090655480. 4

Question Number : 70 Question Id : 92090614043 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt [ &1 gt 11 & gofed Fifam )

il g+ 11
(He T @) (@ Ieh)
(A) =hEsn () =+
(B) =9 (IT) sT=ite
(C) T (I11) Terefi
(D) aren (IV) &t sfie
= feu v fasredt o & & I F1 =999 FH:

(1) AW)-aD), (B)-(D), (C)-I1D), (D)-(IV)
(2)  (Q)-aD), (B)-(D), (C)-(IV), (D)-(I1I)
(3)  (A)-(V), (B)-(ID), (C)-(ID), (D)-(I)
4)  (A)-(@), B)-aD), (C)-(IV), (D)-(IIT)

Options :

92090655477. 1
92090655478. 2
92090655479. 3
92090655480. 4

Question Number : 71 Question Id : 92090614044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As per Census of India 2011, the least urbanized State of India is

1. Odisha

2. Assam

3. Bihar

4. Himachal Pradesh

Options :

92090655481. 1
92090655482. 2
92090655483. 3
92090655484. 4



Question Number : 71 Question Id : 92090614044 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT 1 FTEA-2011 % FTER, 9RG 1 0w Fiied T &
(1)  amfsem (2) Em

(3) faEm (4) fearae wewm

Options :

92090655481. 1
92090655482. 2
92090655483. 3
92090655484. 4

Question Number : 72 Question Id : 92090614045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The leading fish producing state of India as per Agricultural Statistics at a
Glance Report, 2020 is

1. Andhra Pradesh
2. West Bengal
3. Gujarat

4. Tamil Nadu

Options :

92090655485. 1
92090655486. 2
92090655487. 3
92090655488. 4

Question Number : 72 Question Id : 92090614045 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fu wifeshl tHh 3fe f9E - 2020 % IER 9Rd H1 Hod I9ed H 3l T
&

(1) 39 9eH (2) ufvaw ame
(3) TR (4) dfteTg

Options :

92090655485. 1
92090655486. 2
92090655487. 3
92090655488. 4

Question Number : 73 Question Id : 92090614046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hill Area Development Programme was initiated in the

1.  Third Five-Year Plan

2. Fourth Five-Year Plan

3.  Fifth Five-Year Plan

4.  Sixth Five-Year Plan
Options :

92090655489. 1
92090655490. 2
92090655491. 3
92090655492. 4

Question Number : 73 Question Id : 92090614046 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TETSt & faew wEE i e T it T8

(1) = =adE g (2) =q¥ v=adig Fre
(3) =W T=AHF AT (4) S T=HIEE FSHT
Options :

92090655489. 1
92090655490. 2



92090655491. 3
92090655492. 4

Question Number : 74 Question Id : 92090614047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : Diversification of Indian agriculture is required to achieve
sustainable development.

Reason (R) : Expansion of land under cultivation and green revolution
strategy are key to agricultural development in future in
India.

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090655493. 1
92090655494. 2
92090655495. 3
92090655496. 4

Question Number : 74 Question Id : 92090614047 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FU (A); TG fowM B TH FA h U ARGE HU % fafaigmm &b
HATETIHAT § |

F10 (R) : wfaed § wie § $9 % fosbra & forg gfia sifa =61 wiHifa 3 S s g
% fawar &t smavasar 21

ITH FUA1 & A °, g f6u 7 fawew § ¥ @8 3w &1 999 fifau:

(1) &Hi (A) 3 (R) @&l & @91 (R), (A) =1 9&l =5 8 |

(2) TFI (A) 3 (R) @l 8w (R), (A) 1 =é =amen =8 2 |

(3) (A)@dl g vifehd (R) Teid 2 |

(4)  (A)7red & 3R (R) @@ 2

Options :

92090655493. 1
92090655494. 2
92090655495. 3
92090655496. 4

Question Number : 75 Question Id : 92090614048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following Scheduled Indian languages in descending order of
number of Speakers, as per Census of India, 2011.

A. Telugu
B. Marathi
C. Tamil

D. Bengali
E. Gujarati

Choose the correct answer from the options given below :
1. B,D,AC,E
2. B,D,AEC
3. DABEC
4. D,B,ACE

Options :
92090655497. 1



92090655498. 2
92090655499. 3
92090655500. 4

Question Number : 75 Question Id : 92090614048 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qRA &t 0T 2011 % ER Fefofaa st o 6 9o 91l B 58§ ATYE T
ATl 0 H SHAEYT i |

(A)

(B) #wet

(C) afa

Fa?

(D) =t

n

(E) 79d

= feu v fawedi @ & 98 39 %1 994 Sifau |

() (B), (D), (A), (C), (E) (2) (B), D), (A, (E), (C)
(3) (D), (A), (B), (E), (C) (4) (D), (B). (A), (C), (E)
Options :

92090655497. 1
92090655498. 2
92090655499. 3
92090655500. 4

Question Number : 76 Question Id : 92090614049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List—II :

List—I List-lI
(Industry) (Location)
(A) | Iron and steel (1) Renukoot
(B) | Aluminium (1) | Budge-Budge
(C) | Copper smelting (111) | Rourkela
(D) | Jute (IV) | Khetri

Choose the correct answer from the options given below :
1. (A1) (B)=(1); (CI-(IV); (D)~(Il)
2. (A)(); (B)1): (CHHIV): (D)(I)
3. (A B-(IVY; (C)~()); (D)~(Il)
4. (A-(); (B)(1); (C)-(I1); (D)-(IV)

Options :

92090655501. 1
92090655502. 2
92090655503. 3
92090655504. 4

Question Number : 76 Question Id : 92090614049 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 1 w1 gt 11§ gfera hifau |

T T II
(3am) (wrafefa)
A) we-zerma D e
(B) eIt (D) ==-a=
(C) & e (I1T) Tr=Tehe
D) (IV) @aet
i feu v fosedi ® & @€ 3T F1 =949 B

(1) (A)-D), B)-AI), (C)-IV), (D)-(I1I)
(2)  (A)-(II), (B)-I), (C)-(IV), (D)-(1I)
(3)  (A)-IID, (B)-AV), (O)-(D), (D)-1I)
(4) (A, B)-D, (C)-(D), (D)-AV)

Options :

92090655501. 1

92090655502. 2

92090655503. 3
92090655504. 4

Question Number : 77 Question Id : 92090614050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who wrote 17 volumes of “Geographica™
1. Strabo
2. Ptolemy
3. Hipparchus
4

Posidonius

Options :

92090655505. 1
92090655506. 2
92090655507. 3
92090655508. 4



Question Number : 77 Question Id : 92090614050 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
‘SIfEFT % 17 @UEl i A fhE Hi 7

(1) %= (2) efemdt
(3) feurha (4) wHrEfEg
Options :

92090655505. 1
92090655506. 2
92090655507. 3
92090655508. 4

Question Number : 78 Question Id : 92090614051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following did NOT set forth a paradigm for Geography?

1. Ratzel

2. Schaefer

3. Kant

4. Hartshome
Options :

92090655509. 1
92090655510. 2
92090655511. 3
92090655512. 4

Question Number : 78 Question Id : 92090614051 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
=1 4 9 foree e o wiag™ & 3 T8 "emEn?

(1) o= (2) IH
(3) e (4) A



Options :

92090655509. 1
92090655510. 2
92090655511. 3
92090655512. 4

Question Number : 79 Question Id : 92090614052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following approach attempts to achieve the following
objective:

‘To define the cognitive environment which determines the decision-making
process of man'.

1. Postmodernism

2. Feminism

3. Positivism

4. Behaviouralism
Options :
92090655513. 1
92090655514. 2

92090655515. 3
92090655516. 4

Question Number : 79 Question Id : 92090614052 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1= § @ form surm =1 389 fefafaa 2

FHTH THTE0] i IHTNd e 9 gHg 6 Foa-faafor gfen + fFaa s 2)

(1) IW-IgFaETg (2) T
(3) wgEER (4) =IIErER
Options :

92090655513. 1
92090655514. 2
92090655515. 3



92090655516. 4

Question Number : 80 Question Id : 92090614053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Thematic type of map is based on which one of the following?

1. Types of scale

2.  Types of information

3. Types of relief representation

4. Types of military uses
Options :

92090655517. 1
92090655518. 2
92090655519. 3
92090655520. 4

Question Number : 80 Question Id : 92090614053 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Terema (dififess) wopR & qmt=a T 5 9 form 9 i 8 87

(1) =9 & IHE (2) THERT & THA
(3) I=Ir=d We¥H & UHAI (4) T H 39 F THE
Options :

92090655517. 1
92090655518. 2
92090655519. 3
92090655520. 4

Question Number : 81 Question Id : 92090614054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following cannot be shown on the Mercator's projection?

1. Equator

2. Tropics

3. Poles

4. Indian Ocean
Options :

92090655521. 1
92090655522. 2
92090655523. 3
92090655524. 4

Question Number : 81 Question Id : 92090614054 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
f= 8 & foret oehet wE W T8 guian < " 27

(1) goeEE (2) IomRfeadl +i
(3) & = (4) f& TEmmR Hi
Options :

92090655521. 1
92090655522. 2
92090655523. 3
92090655524. 4

Question Number : 82 Question Id : 92090614055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The longitudinal profile of a river will give information about presence of
1. gorge
2. \/-shaped valley
3. U-shaped valley
4. rapids

Options :
92090655525. 1



92090655526. 2
92090655527. 3
92090655528. 4

Question Number : 82 Question Id : 92090614055 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U e i I Ti=aieH =i Iufefa & TR TgH Hid 2
(1) T (2) V-3ThE i 11
(3) U-w3mn 1 aidl (4) Tafuma

Options :

92090655525. 1
92090655526. 2
92090655527. 3
92090655528. 4

Question Number : 83 Question Id : 92090614056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following method of surveying the location of the objects sighted
is at the intersection of the rays drawn from the two points?

1. Prismatic compass
2. Theodolite
3. Socio-economic field survey

4.  Plane table

Options :

92090655529. 1
92090655530. 2
92090655531. 3
92090655532. 4

Question Number : 83 Question Id : 92090614056 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fa waeu fafuai 4 ey femg & arclt amgai & feufa 1 fagani & &= 78 s &
yftreaed T Bt 27

(1) To=nfes o (2) TerrsEse
(3) Hmifas-3ids &= (4) = EA
Options :

92090655529. 1
92090655530. 2
92090655531. 3
92090655532. 4

Question Number : 84 Question Id : 92090614057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is a relative measure of dispersion?
1. Range
2. Quartile deviation
3. Standard deviation
4.

Coefficient of variation

Options :

92090655533. 1
92090655534. 2
92090655535. 3
92090655536. 4

Question Number : 84 Question Id : 92090614057 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T § | =F &1 Fehivl I TH HIUG 09 87

(1) W (i) (2) =qus fo=em
(3) T fa=em (4) o= i
Options :

92090655533. 1
92090655534. 2



92090655535. 3
92090655536. 4

Question Number : 85 Question Id : 92090614058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of the following is more useful and effective for a quick visualization
of a limited amount of information?

1.  Textual representation

2.  Tabular representation

3. Semi-tabular representation

4.  Graphical representation
Options :

92090655537. 1
92090655538. 2
92090655539. 3
92090655540. 4

Question Number : 85 Question Id : 92090614058 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= 1 4 Hifta 961 § 3Iueied AR i dEal 3 THTET e 39T & fae - f&fy
itk 3T 27

(1)  mfessh Tegq (2) wrferet e
(3) FAg-TATeTH I5IH (4) A= 9EIE
Options :

92090655537. 1
92090655538. 2
92090655539. 3
92090655540. 4

Question Number : 86 Question Id : 92090614059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In the equation y; =i, + B, - x4 +&q, fy stands for

1. the gradient of the line

2. intercept of the line on the y-axis

3. the deviation of the point from the line
4.

the dependent variable

Options :

92090655541. 1
92090655542. 2
92090655543. 3
92090655544. 4

Question Number : 86 Question Id : 92090614059 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ty, = By + fy.x;+e, B f, TG E

(1)  TEr =t y=oran (2) Y- 31§ T @l 1 Fed g
(3) ‘a4 fagan %1 fagem (4) sfE ==
Options :

92090655541. 1
92090655542. 2
92090655543. 3
92090655544. 4

Question Number : 87 Question Id : 92090614060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The horizon is visible in which one of the following aerial photographs?

1. Vertical

2. Low-oblique

3. High-oblique

4.  Overlapping vertical



Options :

92090655545. 1
92090655546. 2
92090655547. 3
92090655548. 4

Question Number : 87 Question Id : 92090614060 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 4 5 fopm ama T ° dfas gvge & 27

(1) T (2) = fod=
(3) === (4) HAfaeTm FaEnm
Options :

92090655545. 1
92090655546. 2
92090655547. 3
92090655548. 4

Question Number : 88 Question Id : 92090614061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What does NDVI| means?

1. Normalized Difference Vegetation Index

2. Net Differential Vegetation Index

3. Net Derived Vegetation Index

4. Normalized Derived Vegetation Index
Options :

92090655549. 1
92090655550. 2
92090655551. 3
92090655552. 4

Question Number : 88 Question Id : 92090614061 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
oA € =ft 3 (NDVI) & 71 i 27

(1) wEmRiHd A (W) SHeld gahih
(2) 92 %dm eI g

(3) g F Sl FEHH

(4)  EHRIA e eI GEhih

Options :

92090655549. 1
92090655550. 2
92090655551. 3
92090655552. 4

Question Number : 89 Question Id : 92090614062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : Geography is regarded as a science of synthesis.

Reason (R) : Geography has its own area of study which may appear to
be in the nature of an encroachment upon other disciplines.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is true but (R) is false
4. (A)is false but (R) is true

Options :

92090655553. 1
92090655554. 2
92090655555. 3
92090655556. 4

Question Number : 89 Question Id : 92090614062 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
9 g e fgu w2 : v wifieue (Assertion A) % w9 ¥ foftga & o gEu 396 SR
(Reason R) &% &9 1§ :

AR (A) . A HT T HIATNHS [G7H HHT AT 2 |

F (R) : A 1 A A & & A 3 fawa § sifaseam 6 wgfa & w9 A

Yehe B Hhal 2 |

IHRE H2H % AT °, A= fGu 70 fawedi § 8 969 I9Fd I 6l 994 i

(1) (A) 3 (R) SHT #E & 3 (R), (A) 61 5E =@ 2 |

(2)  (A) 3 (R) GHT @ &, &6 (R), (A) i et e 76 2 |
(3) (A) @&l &, wifepa (R) @21 781 & |

(4) (A)@E 7E 2, @l (R) @ 2

Options :

92090655553. 1
92090655554. 2
92090655555. 3
92090655556. 4

Question Number : 90 Question Id : 92090614063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : Conical projection is suitable for showing Trans-Siberian
Railway Line.
Reason (R) : The scale is true along the standard parallels.

In the light of the above statements, choose the mostappropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090655557. 1
92090655558. 2
92090655559. 3
92090655560. 4

Question Number : 90 Question Id : 92090614063 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I 2 FeF fGu U E : TF AMUFHYE (Assertion A) % ®9 T Toifigd & o1 g90 39 SR
(Reason R) % &9 4 :

AHYT (A) : W TET TH-TIH NI {7 A5 1 GO o o7 3955 2 |

0 (R) : HHE AT & TER A9 95 Bl 2 |
ITUH YT & AT o, = u e fawedi o & 9a8 3999 I 61 997 il -

(1) (A) 3R (R) a1 @& & 3 (R), (A) i &&l ==me 2 |

(2) (A) 3 (R) SF1 = &, 6T (R), (A) Fi w8t =z 78 2 |
(3) (A)HE 2, w7 (R) 7 78 2 |

(4)  (A) =l 7 2, =i (R) @ 21

Options :

92090655557. 1
92090655558. 2
92090655559. 3
92090655560. 4

Question Number : 91 Question Id : 92090614064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R):

Assertion (A) : Holding a GPS receiver close to the body can cause signal
interference.
Reason (R) : The human body can cause signal interference.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is not the correct explanation of (A)

(A) is true but (R) is false

= ge M

(A) is false but (R) is true



Options :

92090655561. 1
92090655562. 2
92090655563. 3
92090655564. 4

Question Number : 91 Question Id : 92090614064 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 g Fye feu U E : v 3fUeUE (Assertion A) % ®9 § fdflgd 2 a1 g80 35 FA0
(Reason R) & &9 # :

Fipem (A) ;& f wa (GPS) 73 &1 iR & =iy g § fame aifuq & asar 21

&I (R) : A I faree =i =rfaa s a2 1
ITE HUH & A °, A fou mu fawedi § & @0 Iuged 3w H1 99 St

(1) (A) 3 (R) 31 @@t 2 3R (R), (A) 1 =él =men 2|

(2) (A 3R (R) SF1 @t &, wifdd (R), (A) it wét =mem 7@ 2 |
(3) (A) @&l 2, wifT (R) |él 781 2 |

(4)  (A) =l 7 2, <l (R) @& 2

Options :

92090655561. 1
92090655562. 2
92090655563. 3
92090655564. 4

Question Number : 92 Question Id : 92090614065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the characteristics of different phases of Paradigm suggested by Kuhn
on time scale.

A. Conflicts among several distinct schools grow around individual scientists.
B. One of the conflicting schools of thought begins to dominate the others.

C. A dominating school of thought which has, often in quite a short space of
time, supplanted others.

D. Stagnation in research which leads to chaos and turmoil.

Choose the correct answer from the options given below :

1. C,D,AB

2. ADC,B

3. AB,C,D

4. D,CBA
Options :

92090655565. 1
92090655566. 2
92090655567. 3
92090655568. 4

Question Number : 92 Question Id : 92090614065 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FE g g5 T3 UfaaE Hi fafva Aaensd - @l S 90 G191 & FER SFad
whifau |

(A) fafore St & w-Fig fo=faa wF g fafim fam femamet & e w509 |
(B) faenfea fommamat § @ vs 1 319 faemams w anfbees g+

(C) % Yoo o=y S WE: 31 FEE 0 [9aiha g8 8, g0 3 eemamst
ferenfie = |

(D) w9 § Sgar =i FregaE 30 fasiy der St 2

= feu o Tl § © 9 I #1934 Fifau

(1) (C), D), (A), (B) (2) (A), (D), (O), (B)
(3 (A, (B), (O, (D) (4) (D), (C), (B), (A)
Options :

92090655565. 1
92090655566. 2
92090655567. 3
92090655568. 4

Question Number : 93 Question Id : 92090614066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following shades in correct order as per Choropleth method :

A. —

D.

Choose the correct answer from the options given below :

1. AB,C,D

2. DCBA

3. B,ACD

4. C,D,B,A
Options :

92090655569. 1
92090655570. 2
92090655571. 3
92090655572. 4

Question Number : 93 Question Id : 92090614066 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U fafYy & F9ER = 2 & 3999 #0 0 SFafeT it |

(A |=— =—

(B} . .

(C)

(D)

fre feu v fameat § © w6 3 %1 =99 Sifsu .

(1) (@A), (B), (C), (D) ) D), (O, (B). (A)
(3 (B, @A), (0), (D) (4) (C), (D), (B), (A)
Options :

92090655569. 1
92090655570. 2
92090655571. 3
92090655572. 4

Question Number : 94 Question Id : 92090614067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements about Plane Table Survey :

Statement—I| : The hairline of the alidade and the ranging rod fixed at the
other end of the baseline on the ground should be in the
same line when seen through the eye vane.

Statement—Il :  The table is said to be lying in azimuth when a line showing
the magnetic north is drawn with the help of a trough
compass placed on an oriented table.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3. Statement | is true but Statement Il is false

4. Statement | is false but Statement Il is true

Options :

92090655573. 1
92090655574. 2
92090655575. 3
92090655576. 4

Question Number : 94 Question Id : 92090614067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
WA ¢Ad Ha& § 79 & ANgEA § Hatyd &l HeH A G T E -

Fu9 () : T4 F3-%eh § ¢@ A 99 Ufcreg i HIE a97 AR @ & gal B W
T § UG HGeW 208, Ush § i@ § g =918

FUA (1) : @ Th ARG ¢a61 W g% HEH ! Heddl § Feehd Il Sl g+ are!
@ @it A a9 9a s fenw § g e

3T HUA o e H, = v 7o foamedi § & gad IUgF I 1 T51 D0 :

(1) % (D) 3 (D) =i =8 & |
(2) A (1) 3R (11) S TTod 2 |
(3) H¥A () 91 2, wifehd %2 (1) Ted 2 |
(4) =¥ (1) Terd &, ifee s (11) @& 2|



Options :

92090655573. 1
92090655574. 2
92090655575. 3
92090655576. 4

Question Number : 95 Question Id : 92090614068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements about a normally distributed data.
Statement—| :  95.45% of the occurrences will lie between X +3c.
Statement—Il :  68.27% of the occurrences will lie between X +1c.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is true but Statement |l is false

4. Statement | is false but Statement Il is true
Options :

92090655577. 1
92090655578. 2
92090655579. 3
92090655580. 4

Question Number : 95 Question Id : 92090614068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TaWTE T & siwel § daiyd o Y A fou T E -
FeH (I): X +8¢ & 999 95.45% 92T gt &

F57 (ID) : X +10 ¥ 767 68.27% Iafeufa gt &1

3T HeH @ AT °, A fqu U fasmed § § o4 39gad I H1 999 ity

(1) == (1) 3R (D) 391 =i 2 |
(2)  FF (1) ¥ 1D =1 T B |
(3) A (1) §El &, e 9= (1) 7o & |
(4)  H¥A () T &, i ®eA (1) 981 & |

Options :

92090655577. 1
92090655578. 2
92090655579. 3
92090655580. 4

Question Number : 96 Question Id : 92090614069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements about Aerial photography.

Statement—I : The intersection of lines from opposite fiducial marks on an
aerial photo locates the conjugate principal point.

Statement—Il :  The actual line of flight can be determined by laying out the
photographs and drawing a line through the principal points
and conjugate principal points.

In the light of the above statements, choose the correct answer from the
options given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is true but Statement |l is false

4.  Statement | is false but Statement |l is true
Options :

92090655581. 1
92090655582. 2



92090655583. 3
92090655584. 4

Question Number : 96 Question Id : 92090614069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ara feam & wafud F= & Fu feg mo # -

®eF (1) :  amEats fauda Fiw foi =t faem Tl et = e fag 5 1=
farg =1 gt 21

F9 (II) : arEafas g9 @ &1 FHune 9@a = & @ 31 53 g a9 g
e forg 3l | B 8 @1 ©id L a1 1 T6aT 2 |

IR YA & AR °, T U U fament § § 599 3uge I 9 =99 i

(1) % (D) 3 (1) =1 5 € |
(2)  F (1) FT (11) A1 T & |
(3) U (I) wEi 8, s =y (1) Terd 2 |
(4)  HY () ToW 8, i wua (1) 9461 2 |

Options :

92090655581. 1
92090655582. 2
92090655583. 3
92090655584. 4

Question Number : 97 Question Id : 92090614070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the given statements about correlation carefully and identify the correct
statements.

A. A positive relation means that the variables vary in the same direction.

B. If two or more variables are related in a statistical way, is sufficient to
conclude that a cause and effect relation exists.

C. A negative relation means that the two variables vary in the opposite
direction.

D. Pearson's Product-Moment Method is a method used to calculate r.
Choose the correct answer from the options given below :

1. A, CandD only

2. B,CandDonly

3. AandBonly

4. BandC only
Options :

92090655585. 1
92090655586. 2
92090655587 3
92090655588. 4

Question Number : 97 Question Id : 92090614070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



He-HaY % HeH # 13U 7 HYHl H A H 1E:

(A) U YA HE-TEY ¥ 399 <F =0 4 v fean | gfads 2

(B) 3z g = e = wifesshm 3fe o gafum € a1 77 =9 e feem & o waie
2 5 39 ooy Frvr-vae 599 21

(C) U O H8-H99 d AquE 8 6 7 == fagda fewn 1§ gftedasiia 2 |
(D) ToaEs € visse-ame fafa v ud oty 2 e w3 - <6 omn 3 e s 21

= fev v fasremi © © 96 S 1 9= |

(1) ==« (A), (C) 3R (D) (2) %= (B), (C) 3 (D)

(3) =Had (A) 30 (B) (4) Had (B) 3 (C)
Options :

92090655585. 1
92090655586. 2
92090655587. 3
92090655588. 4

Question Number : 98 Question Id : 92090614071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Read the given statements about enlargement and reduction of maps and
identify the correct statements:

A. Similar square method of map reduction is a mechanical method.

B. The principle of similar triangles is used in the enlargement or reduction of
relatively narrow areas.

C. The principle of similar squares is used in the enlargement or reduction of
larger areas.

D. The triangular method is very useful if the area to be reduced has large
longitudinal and latitudinal extensions.

Choose the most appropriate answer from the options given below :
1.  Aand B only
2. AandD only
3. BandConly

4. BandD only
Options :
92090655589. 1
92090655590. 2
92090655591. 3
92090655592. 4

Question Number : 98 Question Id : 92090614071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HteE! o foass 3 g & ey § = HYET &1 HEgEs e 7

(A) Tl Sgwm 6 ame @ fafy o it fafy 2
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ST E |

(C) d9ed &= & faau" 3R THHO § §0H a7l & [Hgd &1 Ja fwan 5 2 |

(D) Frgea fafy @ga swErft &t & afe & fomw agwm o 8 9@ seia i

et T srfees &1
T feu o fompeat § @ TE 3T %1 999 B
(1) = (A) 3T (B) (2) e (A) FX (D)
(3) haw (B) 3 (C) (4) e (B) FX (D)
Options :

92090655589. 1
92090655590. 2
92090655591. 3
92090655592. 4

Question Number : 99 Question Id : 92090614072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—Il with List=II :

List— List—II
(Scholar) (Work)
(A) | Aristotle (I) | Airs, Water, Places
(B) | Hippocrates (I1) | The Almagest
(C) | Ptolemy (1) | Arya-Sidhanta
(D) | Aryabhata (IV) | Politics

Choose the correct answer from the options given below :

. (A(): (BY(I): (C(IV): (D))

2. (A)-(V); (B)-{I); (C)-(I); (D)1l
3. (A-(V): B)=(l); (C)=(11); (D)~(1)
4. (A(I); (B)(l); (C)~(1); (D)~(IV)
Options :

92090655593. 1
92090655594. 2
92090655595. 3
92090655596. 4

Question Number : 99 Question Id : 92090614072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt I 9@ gt 11 &1 faem $ifen |

Tt 1 g 11
(fagm) ()
(A) It (I) U3RH, d1e, wied
(B) fedrskhes (ID) =7 FAeHT=
(C) et (111) Zrre—fergian
(D) e (IV) aifefeas
e feu Tu faeheal 9 & TE I &1 51T Fi

(1) (A-D), B)-II), (O)-AV), (D)-(I1D)
(2)  (QW)-1V), (B)-(D), (C)-(I1), (D)-(I1I)
(3)  (A)-AV), (B)-(11), (C)-I), (D)-(I)
(4)  (A)-AD), (B)-(ID), (C)-(D), (D)-AV)

Options :

92090655593. 1
92090655594. 2
92090655595. 3
92090655596. 4

Question Number : 100 Question Id : 92090614073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List—II :

List-I List-II
(Method) (Characteristic)
(A) | Mean (1) Identify what is most common
(B) | Median (Il) | Based on sound mathematics
(C) | Mode (1II) | Square-root of the variance
(D) | Standard deviation (IV) | Divides into 2 equal parts

Choose the correct answer from the options given below :
1. (A-(V); (B)=(Il); (C)-(1); (D))

(AY=(I); (BY(IV); (C)(1); (D)1

(A)-(); (B)-(I); (C)(Ilt); (D)-(IV)

4. (A-(IV): (B)=(1): (C)=(I); (D)1l

2.
3.

Options :

92090655597. 1
92090655598. 2
92090655599. 3
92090655600. 4

Question Number : 100 Question Id : 92090614073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o= 19 5= 11 @ gifer i

= 1 o= 11
(fafar) (o)
(A) =T () =i waifas 9| & 3961 129
(B) wfea (11) fafsre v w smefa
(C) =gos® (T1T) WHTor =T S
(D) wum9 fage (IV) S 5914 97T § diedl @
9 feu Tu fawet o & TE I = =4 HL

(1) (A)-IV), (B)-(ID), (C)-(II), (D)-(I)
(2)  (A)-ID, (B)-(IV), (O)-(D), (D)-(11D)
(3) (A, (B)-(1D), (C)-(I1I), (D)-IV)
4)  (A)-IV), (B)-(), (C)-(I), (D)-(I1I)

Options :

92090655597. 1

92090655598. 2

92090655599. 3
92090655600. 4



